THSFE
5 5\ BREHRBERXS

=

=
£52

FAIL)
=T1[]

[ AF5E 12828 (£) 19:00~ }

BITE—RIfE 3FEE 3REE

1 =
2 & =
(1) FE EREOERZHEEF DS
EET BRASHBARE AR TEER AAEK
(2) FE8RERFEEMFFRBERFTEIZDOULNT
7 EERERBIZDOLT
14 EEMERICERDETEIOMEIZDLNT
7 FTEOEAEE (6&Km - 6FXGTLE) 1220V T
3 B =

L (R |
Y (AARE HRAH |
A % 8 REFISURREREEIC 5 5 LEREEITONT :
A EATRERI= (% HHEIDRHE

&1 41 5 8 REFEMIBRBERTEDREICONT
B A2 % 8 REFEMEFBREREOREFROKET
 Bf43 5 8 REMR RS (REEREIDOME
L BFEEMT F8RERFEICOVT (BEFEE (S5 FESE 1 HERBERMER ] Bk

________________________________________________________________________________________________



